et | TIME SEQUENCE
M—

y .
6o sec — |m‘m———360min———~>lhv'; 24 hy —> 1 day

T doJ"JS — | week =% hk weeks —3 | maonth:

- Kilas Ténﬂembav‘s +hat e  byothey dé&l‘x’lk‘ biﬂhdcuj aftey

6™ mmj/ but before a8’ May while {3&@‘(#\0. ye members —thod
befm& st May but 1t May on Luhod' date decF&ks birth
dwj ~falls -
&) 2t May  b) 1 Mey 2™ Moy &) cannot
Kilo.s > acth may < 2ath  may @) 2a, 23
C?\eé+ho. > 1t Moy < nd Moy i3,l4, ts, 1§, 17, ’3@
= &lfﬁ‘ Moy -



A

4

Sangecta yemembeYrs that hey fatheys bh dc/yj oas ch‘f‘@‘rb

ab
g but before 13 of pec. Her sister Natasa yvemembers
that her fodhers was d&ﬁnq’r&lnj after qfh but before on
which date of DPec was there -fethers b'dcuj-
A) Scmcae_e“to. > gth o 3™ pec
Natasa. > o < ™ pec
= cannet be determined
3 Varma leaves his house ihao min to v°clock n mo-m?'ncj
~N ) : . N N
reaches vVimala. house th s min, —H‘cﬂ finrshed break fast
in ancther ismn ond leave —fov hely office it takes
anothey 2smin ot What 4o Hhelr lecove oOrmilas house to
Teach their office-
RN O SN C R G
Z.Yn'\ln
/
7-00 705
G206 Ot S
6140 2220 AM  While leaving  Urmiias  house -
I‘f"

Aio\j leftt- home —fov bussto') s min  earliey “than usaal.

Tk tokes jomin o veach busstop- He reached the Stop
ot 8140 Am. What tme does he usualy  leaup for  busstop-

Q) &:30 b) 8:4¥ C) &:5¢ Q\) None .

@ o Ugusshp

d——iomin —> T BiN0 Am

TOdCL\d L BL3O
+

Earlier ¢ ~. ¢ = a:1vys Am .

+ The ain ~for  Jucknow leauves euevy 2'Ys hrs from New Dl

Railwoy statian: An announcement Wwos made the train ~or

lucknow had jeft 2OoMin ogo - The +tain will leove at (& hys
At what+ tHme wwas annocuncement-  made .

NN 1 A LY YTy A A& YAn ~Y NnAanas
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A) O O o, O
P L S S
_"‘{ Ho !&s : s%)“)l
/ 1806
e
e« 16 hrs

8. Tthe ranaging divector  enteved dhe confernce  Yoom 90 M
he came O min before Chairman who was 30

before 12 hys
weve Scheduled

min  late- At Hme the interviemas
~ ~
\ n Ceoctoy = Rico — 20 MmN = {140
A) Mancuyr)cj Dire
chatrman = ti:so AM (izd0ELo min)
scheduled Time —  l:isa - 3omin = it2o A
aftetncon

‘pword clevk n

~was  Yecewed oy
"+ to the +able of

7- AN O-PPRco:ﬁon

of o u)éek doxj- Next d@j “orm
who was ©n  leave thad— Aoy |
caton <o -the degk officcy

worded
senlor Clerk - . The senlor clerk
next doy cuening  put up  the oppl
the desk officer shudied it and disposed of madter oN
same dmjf:‘-e;, fiday which couy was QPP((C@\GD veceived

b‘j the inward clerk -

a) Mon / b) Tue c) Wed d) None -

A) [s:c] 00|
wed Fri B
Thu '
a. There pre oo people working in an  office the group OF

aeam and 2 M the Q"d ?]‘”OU‘P- of 10 Fersons

S Persons
perso ns blw

blu o AM ond W M the
There Qe 3 compu’f@fs

3¥d group of 5
ix Noon oand 6 P-M- in offtee e hich
all employes *(:req/qenﬁkj used - Dum‘ng which of the fouowing

hours” +he compurers  ave used —+to likely mest

pM 0 3 PM d)2PMTOR P

a6 O 12 b) 12 o 2 PM )
, |



gio0 AM & Q2 P — & 9
@)
10 AM C o PM

@

13 Noen ¢ & pPH —>

- A mMonkey climbs 30 feet ot the becatm‘nﬂ of eqch howy
vests Hor o while when he Sips back qo feet before he
in Ahe begining of \next hour- T -

agaln  storts ch‘mb:‘nﬁ
g A'M at what +tme ‘wpl he st -foud

bec\}tm‘ng oscends ot
o flog @ oo ~feet from ground -

Q) k pM b)) SPM 9 6 PM d) None .

Ans: -~ |
I hy = 30 fcet T + 20t J

= 10 fect
For ‘last 30t it toakes 1 hy tme
Total = Ahvys + 1| hy = lo hours

8:00
1O 00O

{8 100

(2 200
T 6100 P
(O Hehini went o movie 9 days ago - she goes o mou’e
Omtj on -ﬁ‘c‘douj - What do,lj of week ‘t’t)dcuﬁ
o) Thursday k) Satwday  ©) Sonday d) Tuesdoqj '
A) ( 2 3 v 5 & 7 8 9 [to ] 7/

= Sat  sun Mon Tue iwed Thu Fr  Sat Sw‘)}

= 9 d asmpleted . )
OJJS P 9 () :Sund“'j



1 Ch-?vu went 1o achoet 366 dauj;g ago - He goes 4o the
school only ©n  sunday: Then  what the day on 2days

before of -tomorrows ﬂesv’m*dmﬂ'

P() -~ 2/ pefore 366 -2 = 364 (s-l—‘to) "s,amedag
< TomMmorrow ::Suj\dcud
-1 \Yesturday
-2

—_—

/\ 1]
. s o many  Ssandays in
19. Second dec was sunday hen  how y S 4

R -s
A I
q )
-
- 5 sundayg
16 —S Cuj
7
— S
Y 23
.
30 —S
Shortcuti-
W

Totod dcujs = 31
& —= ] — 5 sundays
/ 2 —ns
7
. . 3 IH)
13- 1IN 33 yan  uwos Hcmdcuj» on whcd% dode of -the man

sth Monday ~fadls -

Shortadti—
A) 3 ‘ >
—_— K Mondays = qx1 ;_D_i
o T 3l — Ms
/7
f7 - M3
7
39— M
-
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and Ch“di‘ncxmj Ye ar

/
L}& ax

Ditevence  between Leo.f:» year

C*r’s"dinami Yyear Leap
fe ™+ s not divisible bL,J r« 2 1< d(‘u“s:‘b(e‘ b‘j Sy QXCQ(D{—
;,i ) oy certuries - Eor centunes (t

would be diuvisible by Hoo
/

R Feb =28 days 2 Feb = 29 days

3. No'of days = 365 3. No. of do.qjg = 366
Y. No- of odd doys = 365 Y- No» of odd clays = 264
| — =
= sa-t1 tone) = sae2 (Two)
5. First day of year and S- TJan-%" = n,
lacst dOUI( ot Jyear 'S same DEC — 3;5" = N+ d‘l’j :
Pev 379 dec, jaq0 is  sunday, what day is 379 Tan 1 -
A-  vpto 37d Jonuary 1990 y
2 pec ; 996 — sun —>
B 28 3 =~ 3 odddcudS
3 Jan : A — 9 — 3 !
31

sunday + 3 = wednesdoy -

is- xn 8™ Feb iaq1 is  Tuesday, (8™ Feb jaqq 2

A- (& Feb (991 - Tu@Sdmj (a9 j""'
+ (A9 g = 2 days add
18 eb Q —  Thursd

6. In L{“"h J‘qﬂ Q060{ - 18 Sundovg} ,L{‘Hﬁ TJan l@O)-/_7

A h Tan 2001 — Sunday
] 1t = L =y odd days.
4 Tan 2002 — Thurschﬂ ]



{77 RS 8"?‘ Join ; SO0 was . Mend(ltj ; o 2~&T’?’3 i‘”’iC‘i‘(\”\.}’) 2009 )

A-  ah Jon 2008 — Mo‘ndou:j
/
g™ Jan 2009 — (ttadays))
N Tan — Q3 day 1 = 8L -~ .
< g {odd days
Febh — &8
Mar — Q8 J

Monda:d + 1 dmjs = Fridoy -
/ " |
18. How much Wil be -therew -rom 26™ a0 1996 o (5 Mo/ /TR

(Both days Included) -

A 26 Job [qa6 It S -\
IS laqe
mcﬂ ::_) 14y daqjs
Feb ! 29
Mar . 31
April 30
F )

Hmj:ts



